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Equations 17, 18 and 19 are placed in 15 and 16.
[bookmark: _GoBack]And then I think they will be simplified with the following commands:
simplify(eq01); fin1 := simplify(numer(%));
simplify(eq02); fin2 := simplify(numer(%));
subs(tanh(xi[n]) = Psi, fin1); fin3 := simplify(%);

subs(tanh(xi[n]) = Psi, fin2); fin4 := simplify(%);
for i from 0 to degree(fin3, Psi) do
    EQ[i] := simplify(coeff(fin3, Psi, i));
end do;
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for the traveling wave solutions of (12). Now, a case analysis follows:
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For solving the DNSE (9), we first make the traveling wave transformation

W=€g,(&), = dntat+l, &=dntotil (10)

and

= eeh g, (&), Uny = eRe g, (&), (1)
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where d; and c; are the wave number of the carrier wave and the frequency, ¢, and d; are related to the group velocity and the
pulsewidth, ¢, and {, denote theinitial phases. Now, using the Euler formulae* = cosd, + isind;,Eq.(9)turns into the system

(12)
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where d; and ¢, are the wave number of the carrier wave and the frequency, ¢; and d, are related to the group velocity and the
pulsewidth, {; and {, de_note the-initial phases. Now, using the Euler formulae*i = cosd; + isind;, Eq.(9)turns into the system
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Equations 17, 18 and 19 are placed in 15 and 16. 

And then I think they will be simplified with the following commands: 

simplify(eq01); fin1 := simplify(numer(%)); 

simplify(eq02); fin2 := simplify(numer(%)); 

subs(tanh(xi[n]) = Psi, fin1); fin3 := simplify(%); 

